zFever.*

FEBR — 11213/1T

Economics
Paper 11

AT

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAAehd TR TR (50) SgUERN TR fooidl oTRd. g GRAen g (2)

O FRA. WE WY e

Additive utility implies that :
(A) Utility is increasing

(B) Utility is independent
(C) Utility is subjective

(D) Utility is ordinal

For two substitute goods, cross-
elasticity will be :

(A) Positive
(B) Negative
(C) Zero

(D) Infinity

If the price of a commodity in
monopoly market is Rs. 30 and its
price elasticity of demand is 4, its
marginal revenue is :

(A) 15
(B) 225
(C) 7.5
(D) 10

‘SUATTAT SRSt Sl Id’ AT Ereftd
e SFATHA AR

(A) ST aredt oT8d

(B) UMl Was 3T

(C) SuAIfiTal =AfrTs3 THam

(D) ITAIfTA= ARl e ad

T ] TRHR T T ST, T B5H
[SEICETINE

(A) &9 3TEd
(B) RO 3T&d
(C) I Hd
(D) 3Fd A
TAST HeRiGR! dNRIdie fhAd 30 %

s Smfor o a&g=n ARl feaa
Aateehdl 4 3T, T T Wil & Toet
A :

(A) 15
(B) 225
(C) 7.5
(D) 10

[P.T.O.
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The slope of the total product curve

gives :

(A) Average product
(B) Total product
(C) Marginal product

(D) Marginal rate of technical

substitution

With K measured on Y-axis, in the
area between ridge lines, the

marginal product of :

(A) K is negative, L is positive
(B) K is positive, L is positive
(C) K is positive, L is negative
(D) K is negative, L is negative
In Cournot model firms choose :
(A) Quantities simultaneously
(B) Prices simultaneously

(C) Quantities sequentially

(D) Prices sequentially
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TRUl IR Thelrdl Ul WU

(A) TOHT IR ®ed

(B) TRU 3T

(C) HHr< 3T %

(D) HHr qifer 9afFar

Y-31eR. Wigdd (K) HiSol 3T 3o

X - FAfHehr=an 7T (L) Hisied STied
31 Tfed Gq afiel T ST YR
qiead M gfis SR ®a 9
T

(A) K = R0 01 L = &
B) K = &F a0 L = &F
(C) K 9 &1 &for L = R0
(D) K = =7 s L = =7

AT FITHM STNTHET STRMYHR feg
o idld

(A) SHREATA HE1 ThaHIewse shed

(B) foud=a A ThaHaesse e

(C) ITEAT HIET HHM

o~

(D) fowud=n A6 HHH
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In a 2 x 2 x 2 (two goods, two
consumers, two factors) general
equilibrium model, the number of
market clearing equations are :

(A) 2
(B) 4
(C) 6
D) 8

Quasi rent is the difference between
the income earned from a factor of
production and :

(A) Marginal cost

(B) Average variable cost

(C) Fixed cost

(D) Opportunity cost

The Phillips curve shows that :

(A) High unemployment rates are
associated with low inflation
rates

(B) High unemployment rates are
associated with high inflation
rates

(C) High unemployment rates are
associated with zero inflation
rates

(D) High unemployment rates are
associated with high wage
rates

FEB - 11213/11
2 x 2 x 2 (YA IK], I IUHH, IF

3G ¥ch ) qEIHAE FiaEHE SR

Hichedl ShYUM=aT THIHIOMN &I Saohi

I
(A) 2
(B) 4
(C) 6
D) 8

SN e & IUE R fHam
Iq=1 3O WiefieTdeht ATdiel FehTIEa]

o

(A) Hu=< e

(B) W&l weer T

(C) feer =

(D) oehfedsh @

fRfaw o et & quifodr ?

(A) 3=a ISR X T4 qEIfewd]

e 3Tl

(B) 3= SUSTR ST 3=d HSIEhdl
SSe 3Tl

(C) 3=a JAUSH S [ HEI Eh

SSe 3Tl

~

(D) 3=d JUSIIR € 3= o SUEIeR

RS rer|

[P.T.O.
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11.

12.
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Square root formula for money

demand is related to :
(A) Speculative demand for money
(B) Transaction demand for money

(C) Precautionary demand for

money
(D) Wealth demand for money

In Keynesian consumption function,

which of the following is true :

(A) MPC is constant and APC > MPC
(B) MPC is falling and APC > MPC
(C) MPC is falling and APC < MPC
(D) MPC is rising and APC > MPC
Transaction demand for money is :

(A) Demand for currency plus

demand deposits

(B) Demand for high-power money

plus demand deposits

(C) Demand for currency and

demand for reserve

(D) Demand for demand deposit

and demand for reserve

10.

11.

12.
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T AFiEE e I Eeieis]
MR Feifed AR
(A) e AR gReeurESt
(B) Humreft wmTOl SRR
(C) Y=t wrTOR gEfardaETe
(D) YR ATOR HuiErst

HHYOd ITHTT HoAd ETeTcTdeht e
AT 3R ?

(A) Tgaia Su«im ge feer
Tm > fosy

(B) famia Iuvim gg<it ==l
w3 > fa3y

(C) faura 3Iuvi 9o« =red
M < fa3y

(D) fawia S99 g9« ared]
Ty > a8y

Yol FEER AR WU
(A) I AU TR ARTOST= 3ot

(B) S99 UymETSt WO e
RIS 3ot

(C) ToT=t JETol SA1fr qEe et
HEToT

(D) HETOISTT S HEToR A1for Tredta
fadiarer armon

YA

YA

YA

SHY A
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14.

15.

16.
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“Bad money drives out good money”

is known as :

(A) Friedman’s Law

(B) Domar’s Law

(C) Keynes’s Law

(D) Gresham’s Law

The formula for multiplier is :

(A) K =11 - MPC

(B) K =1MPC -1
(C) K =11 - APC
(D) K = 1/APC - 1

In classical approach, full

employment is assured by :

(A) Interest flexibility

(B) Wage-price flexibility

(C) Wage rigidity

(D) Price rigidity

Ratchet effect relates to :

(A) Life-cycle hypothesis

(B) Permanent income hypothesis
(C) Relative income hypothesis

(D) Absolute income hypothesis

13.

14.

15.

16.
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“arge T =mTean SeTen S Sererl el

@ciieteh! vl 99 o ?

(A) freaT=n M
(B) <= =M
(C) wg=n T
(D) I=re=n foH

Uk A Welicish! S T ?

(A) K =11 - MPC
(B) K = 1/MPC - 1

(C) K =11 - APC
(D) K = 1/APC - 1
AT SR MITER, J0 USRI

gH=dt Eefierishl ®IMS e 2

(A) &N Adaehdl

(B) oA-fhma wafeehd

(C) =& dretar

(D) fehHa dretan

e g Erciiadsh! Hemel ety
e ?

(A) Sfteq-T% gfehey

(B) TORIT-30= Gfehey

(C) HUYg-39- IReheq

(D) TrUg-sa= gfeheygm

[P.T.O.
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17. “Faster and more inclusive growth”

was aimed in :

(A) 9th Five Year Plan
(B) 11th Five Year Plan
(C) 10th Five Year Plan
(D) 8th Five Year Plan

18. Which is the appropriate rate of
discount to use in Cost-Benefit

Analysis of a developmental

project ?

(A) Private Rate of Discount

(B) Market Rate of Discount

(C) Social Rate of Discount

(D) Treasury-bill Rate of Discount

19. “Institutions play important role in
economic development” is a tenet

given by :

(A) Prof. Amartya Sen
(B) Prof. Paul Streeten
(C) Prof. Arthur Lewis

(D) Prof. Douglas North

17.

18.

19.
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“orfaer M 9 TEEHERE gEl” ®

~e N

S Yedites IeHe e Bd ?

(A) 9st
(B) 11t
(C) 104t

(D) 8t

el fast@ goheur=ar ®™-dre
ToPeIoud STIRUATEISt ShId ShEl <X I
A ?

(A) @R FE T
(B) 9NIR T T

(C) IS R

(D) MR TSTRIEE JI hdl T

“arifefen fomRrara Team= YfHeh Tl
A" § dd HIOT AHEA ?

(A) 9. U §F
(B) W. i TreA
(C) WI. 3R =d

(D) 9. STAq e
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21.
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Which of the following pair of
programme/instrument and its

creator is incorrect ?

(A) Millennium Goals : World Bank

and the UN

(B) Human Development Index :

UNDP

(C) International Longevity Index :

WHO

(D) Corruption Index : Trans-

parency International

Karl Marx predicted the collapse of
capitalism due to the following

factors :

(A) Decline in profits and

competition among capitalists

(B) Diminishing returns and profit
squeeze between rent and

wages

(C) Excessive growth of population

(D) Crises associated with over-

production and social upheaval

20.

21.
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QTATAUeh] hradshd/de AT o=

Sk AN RO SIS Gehrdr AR ?

(A) TEHHTE ALY : SIdeh s 3for
UN (97 T2 9¥)

~

(B) AMa faswm v

UNDP

(g T2 w9 fash wrEied)

(C) fiaeusdta < emysaan frdene .

WHO (STifdes AR

TEET)

(D) y==R fde® : Transparency
International  (STTAWSITA

qREIThdT)

FIe A AT R IO SRS

ST BH Bead 319 FTAA whel
| ?

(A) THIEA T2 0 Yigaaermgd
Ty

(B) 2d WA for W 9 dadmed

T TR

o o a

(C) drrger=t sifafed sl

faSN o

[illsd

s

(D) 31fafied ScareATeh

ST GHISTeR SAATITAY

[P.T.O.
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23.
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The original doctrine of ‘balanced

growth’ refers to :

(A) Scale of investment necessary to

overcome indivisibilities

(B) Growth path of the economy

(C) Regional equality of growth and

development

(D) Returns on private and public

investments

Which of the following expressions
depicts correct relationship between
‘erowth’ and ‘development’ in the

economy ?

(A)

Development can occur without

growth

(B) Growth can occur without

development

(C) Growth and development need

to occur simultaneously

(D) Development is a precondition

for growth

FEB - 11213/11

22. ‘Hifed g8t = e faum wemet ffea

23.

AR ?

(A) rfgursadiar ATd  HITATHTS

RTOT=aT T[qev]ehi™  IRHTT

(B) srdfemaed=n foeshram=n Ori

(C) g5 9 fowmr=t yRRE TEHT

(D) ©ISAT 9 HEsieh  [aauEhiaid

T

AN A AN

JelcdYehl <hlVId

faar g ‘g5l @

‘TRt ArATdIA GaY AR ded e

A ?

(A) St fawm@ g% Ikl

(B) foawmaiiEm™ 93t B IR

(C) Fgi Y1 faehrd T Thfaqor w0
rfesid

[aY o

(D) FEEE fawm & gd o= oM
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24. The measures to improve the quality

25.

26.

and effectiveness of the process of
public expenditure and resource

mobilization refers to :
(A) Fiscal Imbalance
(B) Fiscal Adjustment
(C) Fiscal Correction
(D) Fiscal Consolidation

In a Globalized Economy a General
Anti-Avoidance Rule assists tax

administration to counter :
(A) Aggressive Tax Avoidance
(B) Equity in Taxation

(C) Efficiency in Taxation

(D) Trade off between Equity and

Efficiency in taxation

Which of the following is not
available for financing Government’s

deficit ?
(A) Market Loan
(B)

(®);

Short-term Borrowing

Debt raised under Market

Stabilization Scheme

(D) Net proceeds from State

Provident Fund

FEB - 11213/11

924, HESIeR T ST H|EE "<l Gefed

25.

26.

& HHI AT Ufsha=it Torer ST
IRUMHER o YEROM HIUITAT ST
S WU ?

(A) TSR STHHAA

(B) TSRS HHTISH

(C) TSThISE godl

TehITeh U]

SITfdeh STefeqedd &Y vl fadiedt
TE= 99 7 R IREA J8d hed
Sl o fawea @ ?

(D) TSRS

o N

(A) 3ThRHS Y FhdNR

(B) UG 99

(C) HITGAIdIA hIE&THdT

(D) TSI G2 o hr&Hdr
TR

TWHNE 2 INEvarEe! Selerde]

HIUTET HHORT Shell Sq AT ?

(A) ISR &l

(B) STeqHadr= ohsi

(C) 9NIR frediertor I 3Tald Sdeial
Eoel

D) T yfos frafg feider fees

AR

[P.T.O.
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28.
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Government cannot finance the plan

entirely through borrowing when :

(A) Fiscal Deficit is less than

Budgetary Support

(B) Fiscal Deficit is greater than

Budgetary Support

(C) Fiscal Deficit is equal to

Budgetary Support

(D) Budgetary Support is zero

The proceeds that are distributed
between the states by the Finance

Commission 1is :

(A) Net proceeds of Central Taxes

(B) Divisible pool of Central Taxes

(C) Gross receipts of Central

Government

(D) Gross Tax revenue of the

Central Government

28.
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S a

ISRISIGH

st A QUi foagiaa

FE Tehd AT

(A) STFERT STURTUET TSRS T

HH FHA W

(B) S1efEhedIa STURIUET TSThIST T

ST 3Hd ™

(C) ATGhedrg SMYR (0T TSTehTsig

e TRE AT T

(D) AATHhIE THR A A T

o TN Wefietish! SIvTdl Hega o]
TS Hel oed hid ?

n

& = fread wegd

(A) =

(B) s THRAT himggardl faao

I 9= g

(C) &g THRAl THU TeHd

(D) &% WHRAT THU H Tegad

10
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29. Under Fiscal Responsibility and | 929 wsehisig Sameer =for siefgseq
Budget Management Act which ST I ST TS T e
deficit was committed to reduce to . . X

g THR I 2008-09 T HIT G2
zero by all States and Centre by )
2008-09 ? U HOAE FYT hell Bl 2
(A) Fiscal Deficit (A) TSRS T
(B) Primary Deficit (B) Wiarfesh
(C) Revenue Deficit (C) TEg T
(D) Budgetary Deficit .
(D) FdFHRAT T2

30. Improvement in the ratio of own
revenue receipts of a state to its 30. A=l T[T Hedell & reft el =
total revenue expenditure is A Hega! STH=AT T et
referred to : YUNOY &I UK ?

(A) Tax Efforts (A) XTI
(B) Fiscal Capacity -

(B) SIS &
(C) Fiscal Discipline

(C) USTehrsity fired
(D) Inverse Per Capita Income

31. Blue Box Subsidies include : D) el ST SRS
(A) Subsidies on farm exports 31. = I FAHR WU
(B) Subsidies on production of (A) SquraT=n fFafdeda st

Insecticides . -
(B) °hﬁld°h"||?|°h|‘°¢i| ScHlg el 3181'{?1%]
(C) Subsidies on Farm Research
(C) VdtasTdiel STl sTeidm
(D) Direct Payments made to
farmers (D) Yas=a ¥ fooar U9
11 [P.T.O.
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32. Persistent Dumping in International

Trade refers to :

(A)

(B)

(©)

(D)

Exporting a huge quantities

abroad at continuously

fluctuating prices

Continuous tendency of a

domestic monopolist to

discriminate consumers
through charging different

prices for the exportable

commodity

Continuous tendency of a
domestic monopolist to charge
a higher price in a country as
compared to the international

price

Continuous tendency of a
domestic monopolist to charge
a lower price in a country as
compared to the international
price to benefit the country’s

consumers

FEB - 11213/11

32. AAWMLT =MUNE Fad TegsH 3™

gfad &

(A)

(B)

qraca™ dgareal feade aeq=

weymd g o

QT ARG ffaer argedr

o= foradl sTerTe SuHiea=n 9

HLOA Y]

(C) JIMTAAT HHIQRIET AL

(D)

fohAdi=a qoma &gl QeI

S fRua sTeRRuaTE Ardcrgut

et

IIMANT IS 2 I

YT IRl AT

~ *

[ehHd

o~ *

feR A=A et SI&eh{iar ShH

SRR il

12
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33. If a country is experiencing faster | 33. SR TEMEN <M SR <IN Joi-d STorQ
economic growth than the rest of the T faeshramen ST 4d 38a R &
world, then its currency : QY= 9
(A) Depreciates (A) FEIEER B
(B) Appreciates (B) Wﬁ‘l HEN]

(C) No change (C) faft7a Yoo aca TR R
(D) Appreciates only if growth is (D) ST AU TU S 3EA @
very high Wﬁ? KHEY!

34. Countervailing duties are imposed | 34. 3Tqd IR =~ A
to protect domestic producers I HI0ATEISt gfadiad veh
from : 3R S
(A) Increase in cost of production (A) 3R EEidd 916
(B) Foreign subsidies (B) fostt atefdmr
(C) Fall in demand (C) WO e
(D) Quotas (D) il

13 [P.T.O.
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36.
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GATT allowed formation of free
trade areas and customs union

under Article :

(A) IV

(B) XXIV

©) X

(D) VII

An effective exchange rate is a :

(A) Price adjusted exchange rate

(B) Spot exchange rate effective in

the market

(C) Exchange rate against a

weighted basket of currencies

(D) Exchange rate quoted against
the most important currency of

the world

35.

36.

FEB - 11213/11

e ol MR &5 9 AR Fert FHfHd

(A) IV

(B) XXIV

) X

(D) VII

TfomeRRE fafma X "IN

o o

(A) TRTATER Seeacren fafma

(B) dNIRIG Jeifad 39l gk fafaa

=58

(C) vI@ Fei=an |HBRN THera

fafma

(D) STl gaid Hexar=al SoTIen

Tafyd A9aen fafma

14
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37. (0 The immediate cause of the | 37. () foed J=q T FHIHSTIERA
collapse of the Bretton Woods TS HRO RS 1970-71
system was the massive a5 SRR . -

H{eh 2| HIqUI[H fdgl{-
Balance of Payments deficits of = ° ¢
the United States in 1970-71. dqrerd Het e 3 it
(it) The fundamental cause of the (i) T Jeq I HAHSTAHR
collapse of the Bretton Woods AAYd &R RO AT
system was problems of e T 2L
international liquidity.
oY . " . 7
What can you say about the above SRy ﬁ[%ll"“@ll@ld diel ohld Nl ¢
statements ? (A) faum () IR A7 faam (i) =
(A) The statement (i) is correct but 3
the statement (ii) is incorrect.
(B) faum (i) IR g7 faam () ==
(B) The statement (i7) is correct but o
the statement (i) is incorrect.
(C) Both the statements (i) and (i7) (C) M (i) = faeim (id) <1
are correct. e
(D) Both the statements (i) and (ii) (D) fasm () a faam (i) = I
are incorrect. TR
38. The ‘Five Point Formula’ to revive PN o . ~
. . . 38. UM A UTd hedHl hlHAhHIGR
Indian agriculture, leading to _ o n
second green revolution was JTRCT hET HA A soIar=l T
Suggested by it ﬁ a})Fﬁ.
(A) Eleventh Five Year Plan (A) 11 T=Eftier A
(B) Twelfth Finance Commission (B) 12a1 ford A
(C) Arjun Sengupta Committee
! 8up (C) TS Swr Attt

(D) National Commission on

Farmers D) T ij' TR A

15 [P.T.O.
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40.

41.
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The term Mg in the context of money

supply in India is also called :
(A) Broad Money

(B) Narrow Money

(C) Aggregate Money Supply
(D) Reserve Money

Identify the areas reserved
exclusively for public sector during
the structural reforms era after

1991 :
(A) Petroleum and Coal
(B) Defence and Retailing

(C) Railway Transport and Atomic
Energy

(D) Petroleum and Steel

The Tarapore Committee, 1997,
appointed by the Reserve Bank of
India dealt with :

(A) Black Money in India

(B) Rupee convertibility on current

account

(C) Rupee convertibility on capital

account

(D) Restructuring of Regional Rural

Banks

39.

40.

41.

FEB - 11213/11
WA Y QeI Hewld Mg
T Gheu H FUE Helged Sd
(A) fosqa &
(B) are Ywl
(C) o=l w9y qXEa
(D) TEE &

1991 A=A FLEAHS YR Fhiedd
hales ATesliTeh &STHIe! STRfWd STeTel!
2P e e |

(A) BT 91 9 hiesdl

(B) W& 9 faieled =R
(C) ¥ ameqeh SMfor 310 Kl
(D) | 9 9 UG

~

Rered
TfFdER Sacten fasg v gar ?

b AT, 1997 dRIAR

(A) YRAIdeT kAl U

(B) =] @ceiid T9aTel qRad= T

(C) HiSTel Qe I gierd-iad

(D) YRR WO ST g

16
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42. The committee on Competition | 42. &< IMEAN AHIA Tl €Ror FiHfG
Policy appointed by the Central (e GfFdt) =1 SR @ielterdeh]
Government (Raghavan Committee) FTER ST A0 ' A ?
sought to replace : )

(A) HUt oSS
(A) Company Law Board
(B) |\;|!I‘F|3|015$ ST
(B) Disinvestment Commission
(C) TS AWM A=
(C) State Planning Commission
, o (D) FFT o fAderes =R ge
(D) Monopolies and Restrictive
Trade Practices Commission
43. (i) The Planning Commission in 43. () RAIA AN AN T W
India is a Statutory Body. e e
(i1) The Finance Commission in (i) Yara fog s & wifafaes
India is a Statutory Body. T .
What can you say about the above e faumeea Rl & 9 ?
statements ?
(A) faum ) st faum @) = ==
(A) Statement (7) and statement (i7) T
both are incorrect.
(B) faum ;) snfor faum (i) <l 9
(B) Statement (Z) and statement (i7)
3T
both are correct.
C) faum () 9= aifor faem i
(C) Statement () is correct and © @ e @)
statement (i7) is incorrect. kS .
(D) Statement (i) is incorrect and (D) fae=m (@) kSd e eAfor ferwm (i)
statement (i7) is correct. T e
17 [P.T.O.



44.

45.
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Identify the correct statement :

(A) During the year 1950-51, the
share of agriculture and allied
services in India’s GDP was

about 55%.

(B) During the year 1980-81, the

share of industry in India’s

GDP was about 55%.

(C) During the year 2010-11, the

share of services in India’s GDP

was about 35%.

(D) During the year 2010-11, the

share of agriculture and allied
services in India’s GDP was

about 28%.

Average speed of train can be

measured with the help of :
(A) Median

(B) Arithmetic mean

(C) Geometric mean

(D) Harmonic mean

FEB - 11213/11

44. | faum M@

45.

(A) 1950-51 oS, TRAT=AT WS

AR o1 FHHT FIfed Jarn
R gAR 55% @

(B) 1980-81 dTeil, WRAT=AT U™
S ST 91l AR 55%
Brdl.

(C) 2010-11 9HTell, HRAT=AT U™
SO el del gaR 35%
Brdl.

(D) 2010-11 HTel WRAT=AT ST
AR o1 FHHT FIfed Jarn
el guR 28% @l

SITRTE=AT FUE 7= HI9H AT

HEAM & Ad

(A) T
(B) SRR HOET
(C) it Tt
(D) ErHifTeR TOER]

18
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46. For a sample data arithmetic mean | 46, T&! T MheaAE! W 50
is given as 50 and co-efficient of ST forereTen TeUTeR 0.5 ST, FHIvrd
variation is 0.5, what would be the - -

e B AHA 7
value of standard deviation ?
A) 0.25
(A) 0.25 B
(B) 0.50 (B) 0.50
(C) 0.75 (C) 0.75
D) 1 (D) 1

47. Two lines of regression intersect | 47 aF ydigrgy Yo TFHHET I DA
at :

(A) H&IM
(A) Median

(B) &gaish
(B) Mode
(C) Mean (C) W
(D) Origin (D) STRYEAM

48. If the value of b, = 4 in a | 48. SR WATEAM b, = e 4 A 0T
regression and value of correlation HeHeY TEUehEl 4 3, W by, LGS
co-efficient is also 4, then value of e -
bxy will be :

(A) 3
(A) 3
(B) 4 B) 4
C) 5 C) 5
D) 6 D) 6
19 [P.T.O.



49.

50.

PS(zFever.#

In order to test the difference of
means of two samples we make

use of :

(A) F-test

(B) Chi-square test
(C) t-test

(D) z-test

For rejection of a null hypothesis

which of the following holds ?

(A) Calculated value of the statistic

> table value of the statistic

(B) Calculated value of the statistic

< table value of the statistic

(C) Calculated value of the statistic

= table value of the statistic

(D) Calculated value of the statistic
is double the table value of the

statistic

FEB - 11213/11

49. T AHAT=AT FURATTA HIHTH

50.

JUTEIT WTatd ===l 9gram

Hedl ST

(A) F-=m=on

(B) S-SR <=l
(C) t-—=r=on
(D) z-=T=O

Tes qfehedH T (null hypothesis) TR

S degl Weicideht w1 39d ?

20 O

clclitech

(A) Efefeshd TH 79 >

db

YRfidlel ged

20 O

clclitech

(B) Wfefeshd TH 7o <

db

(D) Efefesra g grvfidia =

A=Al g 3T

20
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ROUGH WORK
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ROUGH WORK
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